Saf-T-Stor® Gas Cylinder Storage Cabinet
Saf-T-16

Assembly Instructions

Providing Reliable Engineered Solutions

TABLE OF CONTENTS: ——
PAGE 1 | COVER, TOOLS REQ'D ===
PAGE 2 | HARDWARE PROVIDED & !
PARTS LIST = -
PAGE 3 | ASSEMBLY INSTRUCTIONS R
PAGE 4 | ASSEMBLY INSTRUCTIONS ém 11, Rl
(CONTINUED) T FuanuABLE [T || FFFTER FLAMMABLE
— m? =
F i =
] = =
:;% T
g C =
pio2iZs
==
TOOLS REQUIRED:
. 7/16"
[11mm]

OPEN END WRENCH MEASURING TAPE

FGI-653 RevA 04/24/13 Copyright ©2017 Folding Guard, A Member of Troax Group PAGE 1 of 4



HARDWARE PROVIDED:

e "\ HARDWARE LIST:
N . AG % C) 1/4’-20 x 1” SQUARE NECK CARRIAGE BOLT
BA AM x 54
x 16

) 1/4” FLAT WASHER

E) 1/4"-20 HEX NUT

G) 1/4”-20 x 3/4” SQUARE NECK CARRIAGE BOLT
M) 1/4"-20 x 1-1/2" SQUARE NECK CARRIAGE BOLT
A) 1/47-20 x 1-3/4” SQUARE NECK CARRIAGE BOLT

KT014
X1

x 16
C
| ©)
pe
K X 96 X 96 x10 /

PARTS LIST:
AN
Ll Q
K
Oy \ X2
N
L] \
DN
N HARDWARE KIT (x1)
o . N
N
¢
DN
o o \
N
N DANGER GAS
s N FLAMMABLE SIGN (x2)
DN
L] \
s L

VERTICLE DOOR: WELDED PANEL: WELDED LOCKING
ANGLE (x8) WIRE MESH (x2) WIRE MESH (x5) BAR (x2)
)
)
SHELF (x8) SHEET METAL TOP (x2)

FGI-653 RevA 04/24/13 Copyright ©2017 Folding Guard, A Member of Troax Group PAGE 2 of 4



INSIDE VIEW

INSIDE VIEW

BACK SIDE VIEW
5 b

NOTE: THIS SIDE IS

ASSEMBLED IN STEP 1 \

NOTE: REPEAT STEP 4
TO INSTALL THE REST
OF THE SHELVES

FGI-653 RevA 04/24/13

LEFT & RIGHT PANEL
ASSEMBLY

) 4

y J

XXX XX XX

XXX XXXXXXXXXXXXXXXXXXXXXXXX

SN NN SN S S YA YYY
ARRNRRRRY90:0.0.0.000.0.00.0:0.0.0.9.0:
NAA/ 4
VOOGOCOOOOLE OGN
S O T LT Y
\ \XXX'XXXXXXXXKXXX KX A X XA X XX X XK X XK X A&

AACACAAE

4 BACK SIDE VIEW

AG

x4

INSIDE VIEW

Copyright ©2017 Folding Guard, A Member of Troax Group

LARRARRARRANN

A%\

A\

S\
AR\

ALY

s

K

ARANY

CENTER PANEL

ASSEMBLY
»
»
va g
»
»
-
» N
I
L
[
»
»
»
-
» .
[Pl .
»
»
»
»
|-
»
=
[P .
Al
1A
>4
>4
A | e
= Z r
o
A
Z
215
PAGE 3 of 4



FRONT VIEW WITH TOP
INSTALLED

TYP. LOCK INSTALL
TYP. HINGE INSTALL

NOTE: _
®  FULLY TIGHTEN ALL NUTS 7]

®  COMPLETESTEP7&8
FOR BOTH DOORS

=

N
i

N
)

o
5

INSIDE VIEW

A A

D R DANGER

FLAMMABLE . FLAMMABLE
A NOTE:
®  CHECK DOOR ALIGNMENT, ADJUST DOOR
9 HEIGHT ACCORDINGLY.
. ®  ZIPTIE DANGER SIGN TO LOCKER DOOR

ji

o[l

FGI-653 RevA 04/24/13 Copyright ©2017 Folding Guard, A Member of Troax Group PAGE 4 of 4



